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TNPSC GROUP I MAIN – 2023 

PERCENTAGE, PROFIT & LOSS, TRIGONOMETRY AND GEOMETRY 

TEST 
gphpT – m 

SECTION – A 
 

Fwpg;G:  
i. xt;nthU tpdhtpw;Fk; 150 nrhw;fSf;F kpfhky; tpilaspf;fTk;.  

Answer not exceeding 150 words each 
ii. xt;nthU tpdhtpw;Fk; gj;J kjpg;ngz;fs;. 

Each question carries ten marks. 
iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F 

kl;Lk; tpilaspf;fTk;  
Answer any four questions out of five questions. 

(4 × 10 = 40) 
 

1. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
 

a. An alloy consists of 30% copper and 40% zinc and the remaining is nickel. Find the 
amount of copper, zinc and nickel in 20 kilograms of the alloy       (5 m)  
xU cNyhff; fyitapy; 30% jhkpuk; 40% Jj;jehfk;> kPjp epf;fy; cs;sJ. 20fp.fp 
cs;s ,e;j cNyhff; fyitapy; jhkpuk;> Jj;jehfk; kw;Wk; epf;fypd; msT ahJ? 

 
b. A tank can hold 50 litres of water. At present, it is only 30 % full. How many litres of 

water will fill the tank, so that it is 50 % full?           (5 m) 
xU jz;zPh;j; njhl;bapd; nfhs;ssT 50 ypl;lh;fs; MFk;. jw;NghJ mjpy; 30% 
jz;zPh; epuk;gpAs;sJ vdpy;> mjpy; 50% jz;zPh; epiwa ,d;Dk; vj;jid ypl;lh;fs; 
Njit? 

  
2. Answer the following Questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 

a. In an examination, a candidate secured 125 marks and failed by 15 marks. If the pass 
percentage was 35%. Find the maximum marks.         (5 m) 
xU Njh;tpy;> Njh;th; 125 kjpg;ngz;fs; ngw;W 15 kjpg;ngz;fs; Fiwthf ngw;wjhy; 
Njhy;tpaile;jhh;. Njh;r;rp kjpg;ngz; 35% vdpy;> nkhj;j kjpg;ngz;fis fz;lwpaTk;. 

 
b. After spending Rupees sixty thousand for remodelling a house, Amla sold a house at 

a profit of 20%. If the selling price was Rupees forty two lakhs, how much did she 
spend to buy the house?             (5 m) 
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mkyh xU tPl;bid thq;fp mjd; fl;ll mikg;gpid khw;w &.60>000 nryT nra;jhh;. 
gpd;dh; mt;tPl;il 20% ,yhgj;jpy; tpw;whh;. mjd; tpw;gid tpiy &.42>00>000 vdpy; 
mt;tPl;il thq;Ftjw;F mth; nra;j nryT ahJ? 

 
3. Answer the following Questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
a. A T.V. with marked price Rs. 11,500 is sold at 10% discount. Due to festival season, 

the shop keeper allows a further discount of 5%. Find the net selling price of the T.V. 
Fwpj;j tpiy &.11>500 cs;s xU njhiyf;fhl;rpg; ngl;bapd; kPJ 10% js;Sgb 
nra;J tpw;fg;gLfpwJ. tpohf;fhyk; Mdjhy; filf;fhuh; NkYk; 5% js;Sgb nfhLj;J 
tpw;fpd;whh;. mjd; tpw;w tpiyiaf; fhz;f.        (5 m) 

 
b. The cost price of an article is 90% of its selling price. What is the profit or the loss as 

percent?               (5 m) 
xU nghUspd; mlf;f tpiy mjd; tpw;gid tpiyapy; 90% MFk;. yhgk; my;yJ 
el;l rjtPjk; fhz;f. 

 
4. Answer the following Questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
a. A certain number of articles are bought at 3 for ₹ 150 and all of them are sold at 4 for ₹ 

180. Find the loss or gain as percent.           (5 m) 
Fwpg;gpl;l vz;zpf;ifapyhd nghUl;fs; &.150 f;F 3 vd thq;fg; gLfpd;wd. NkYk; 
mit midj;Jk; &.180f;F 4 vd tpw;fg; gLfpd;wd. e~;lk; my;yJ yhgj;ij 
rjtPjkhff; fhz;f. 

  
b. If the numerator of a fraction is increased by 25 percent and the denominator is 

decreased by 50 percent, then the fraction obtained is 
2

5
. What is the original fraction? 

xU gpd;dj;jpd; njhFjpia 25% mjpfupj;Jk;;> gFjpia 50% ck; Fiwj;jhy; me;j 

gpd;dk; 
2

5
Mf khWfpwJ vdpy;> mry; gpd;dj;ijf; fhz;f.       (5 m) 

 
5. Answer the following Questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 

a. Three angles of a triangle are 3x + 5°, x + 20°, x + 25°. Find the measure of each angle. 
Kf;Nfhzj;jpd; %d;W Nfhzq;fs; 3x + 5°, x + 20°, x + 25° vdpy; xt;nthU Nfhzj;jpd; 
msitAk; fhz;f.             (5 m) 

 
b. Find the length of the side of regular polygon of 12 sides inscribed in a circle of radius 

6cm.               (5 m) 
6nr.kP MuKila tl;lj;jpDs; mike;j 12 gf;fq;fisf; nfhz;l xOq;F 
mWq;Nfhzj;jpd; gf;fj;jpd; ePsk; fhz;f. 
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gphpT – M 
SECTION – B 

 
Fwpg;G : 

i. xt;nthU tpdhtpw;Fk; 250 nrhw;fSf;F kpfhky; tpilaspf;fTk;. 
Answer not exceeding 250 words each. 

ii. xt;nthU tpdhtpw;Fk; gjpide;J kjpg;ngz;fs; 
Each question carries fifteen marks. 

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F 
kl;Lk; tpilaspf;fTk;. 
Answer any four questions out of five questions. 

 
(4 × 15 = 60) 

 
6. Answer the following Questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 

a. The ratio of boys and girls in a class is 5:3. If 16%of boys and 8%of girls failed in an 
examination, then find the percentage of passed students.        (7.5m) 

xU tFg;gpy; khzth;fs; kw;Wk; khztpfspd; tpfpjk; 5:3 MFk;. XU Njh;tpy; 16% 
khzth;fSk; 8% khztpfSk; Njh;r;rp ngwtpy;iy vdpy;> Njh;r;rp ngw;w nkhj;j 
khzt> khztpfspd; rjtPjj;ijf; fhz;f. 

 
b. A man sold two gas stoves for ₹8400 each. He sold one at a gain of 20% and the other 

at a loss of 20%. Find his gain or loss %in the whole transaction.      (7.5m) 
xU egh; ,uz;L vhpthA mLg;Gfis jyh &.8400 f;F tpw;whh;. xd;iw mth; 20% 

,yhgj;jpYk; kw;nwhd;iw 20% el;lj;jpYk; tpw;whh; vdpy;> mtUf;F Vw;gl;l ,yhg 
my;yJ el;lr; rjtPjj;ijf; fhz;f. 

 
7. Answer the following Questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 

a. On selling a T.V. at 5% gain and a fridge at 10% gain, a shopkeeper gains Rs. 2000. But 
if he sells the T.V. at 10% gain and the fridge at 5% loss, he gains Rs. 1500 on the 
transaction. Find the actual Price of T.V. and the fridge.         (9m) 
xU njhiyf;fhl;rp ngl;bia 5% ,yhgj;jpw;Fk;> xU Fsph;rhjdg; ngl;bia 10% 
,yhgj;jpw;Fk; tpw;gjhy; filf;fhuUf;F epfu ,yhgk; &.2000 fpilf;fpwJ. Mdhy; 
mth; xU njhiyf;fhl;rpg; ngl;bia 10% ,yhgj;jpw;Fk;> xU Fsph;rhjdg; ngl;bia 
5% e~;lj;jpw;Fk; tpw;gjhy; mthpd; epfu ,yhgk; &.1500 fpilf;fpwJ vdpy;> 
njhiyf;fhl;rpg; ngl;b kw;Wk; Fsph;rhjdg; ngl;bapd; rhpahd tpiyfisf; fhz;f. 

 
b. If the difference between 75% of a number and 60% of the same number is 82.5, then 

find 20%of the number.              (6m) 
Xh; vz;zpd; 75% f;Fk; mNj vz;zpd; 60% f;Fk; ,ilNaAs;s tpj;jpahrk; 82.5 
vdpy;> me;j vz;zpd; 20% If; fhz;f. 
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8. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
a. In the new budget, the price of petrol rose by 10%. By how much percent must one 

reduce the consumption so that the expenditure does not increase?        (5m) 

Gjpa gl;n[l;by; ngl;Nuhy; tpiy 10% cah;e;Js;sJ. nrytpdk; mjpfhpf;fhky; 
,Uf;f> Efh;it vt;tsT rjtPjk; Fiwf;f Ntz;Lk;. 

 
b. A defective Chair costing Rs 800 is being sold at a loss of 8%. If the price is further 

reduced by 5%, find its selling price.                       (5m) 

&.800 kjpg;Gs;s gOjile;j ehw;fhyp 8% e~;lj;jpy; tpw;fg; gLfpwJ. tpiy NkYk; 
5% Fiwf;fg;gl;lhy;> mjd; tpw;gid tpiyiaf; fz;lwpaTk;.  

 
c. In a school, out of 300 students, 70% are girls and 30% are boys. If 30 girls leave and 

no new boy is admitted, what is the new percentage of girls in the school?       (5m) 
XU gs;spapy;> 300 khzth;fspy;> 70% ngz;fs; kw;Wk; 30% Mz;fs; 30 ngz;fs; 
ntspNawp> Gjpa Mz;fs; Nrh;f;fg;gltpy;iy vd;why;> gs;spapy; ngz;fspd; Gjpa 
rjtPjk; vt;tsT? 

 
9.  The angles of elevation and depression of the top and bottom of a lamp post from the top  

of  a 66 m high apartment are 60°and 30°respectively. Find       (15m) 
(i) The height of the lamp post. 
(ii) The difference between height of the lamp post and the apartment. 

(iii) The distance between the lamp post and the apartment. ( 3 1.732= )    
66 kP caukhd mLf;Fkhbf; FbapUg;gpd; cr;rpapypUe;J xU tpsf;Ff; fk;gj;jpd; cr;rp 
kw;Wk; mbapd; Vw;wf;Nfhzk; kw;Wk; ,wf;ff;Nfhzk; KiwNa 60> 30 vdpy; 
gpd;tUtdtw;iwf; fhz;f. 
(i)   tpsf;Ff; fk;gj;jpd; cauk; 
(ii)  tpsf;Ff; fk;g cauj;jpw;Fk; mLf;Fkhbapd; cauj;jpw;Fk; ,ilNaAs;s tpj;jpahrk;. 

(iii)  tpsf;Ff; fk;gj;jpw;Fk; mLf;Fkhbf;Fk; ,ilNa cs;s njhiyT. ( 3 1.732= )  

 
10. A boy spots a balloon moving with the wind in a horizontal line at a height of 88.2 m from 

the ground level. The distance of his eye level from the ground is 1.2 m. The angle of 

elevation of the balloon from his eyes at an instant is 60°. After some time, from the same 
point of observation, the angle of elevation of the balloon reduces to 30. Find the distance 
covered by the balloon during the interval.          (15m) 
xU rpWtd;> jiuapypUe;J 88.2 kP cauj;jpy; fpilepiyf; Nfhl;by; fhw;wpy; efUk; xU 
gY}id 60 Vw;wf; Nfhzj;jpy; ghh;f;fpwhd;. jiuf;Fk; mtdJ fpilepiyg; ghh;itf; 
Nfhl;bw;Fk; ,ilNa cs;s J}uk; 1.2 kP. rpwpJ Neuk; fopj;J> mNj ,lj;jpypUe;J mtd; 
gY}idg; ghh;f;Fk;NghJ Vw;wf;Nfhzk; 30 Mff; FiwfpwJ vdpy;> ,f;fhy ,ilntspapy; 
gY}d; efh;e;j J}uj;ijf; fhz;f. 


